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(Provide Semilog sheet, Polar graph and ordinary graph shee)
Answer ALL questions.
PART A — (10 x 2 = 20 marks)

311 List the advantages of Clozed loop System?
2. What is Block diagram? What are its basic componenta?
3.  State some standard test signals used in time domain analysia.

4,  What is a steady state error?

Give the apu::iﬁcatiuns uszed in frequency domam analysis,
What are Constant M and N circles?

7. What is dominant pele? °

Define about Nyguist stability critarion.

g,  What are state variahles?

10. Draw the Sampler and hold ni:_':c'uits.
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Fig. 1
What are the base elements of mechameal rotationsl Evatema and
Write its torque halance equations, {4)
Or

Write the rule for elimmating negative and positive feedback in
block diagram reduction. ()

The =ignal flow graph for a feed back control syatem is shown in
Fig. 2. Determine the clozed loop transfer funetion C{s}lﬁﬂ{;}. (12)
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What are the time domain specifications? Define any two. (
H .

Derive the time response analysis of a first order system for step
Jerive t
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